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The figures in the margin indicate full marks
for the questions

Answer either in English or in ASsamese

Answer the following questions : 1x7=7

wore Tl eppTEd Ol fordl
4) What was the literacy rate of India
according to 2011 Census?

2033 B4 CETIRF(ATE (O S[OY AFION S
s e 2

(b) Define per capita mncome.
CERRACIRE RN R ERIN

c) What is density of population?

TGS g 6 7

(d) What is relative poverty?
el TlRgel {2

(e What 1s meant by Green Revolution?

e1ow [ gletes & @ 2
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(2 )

{j/ Mention one cause ¢
unemployment in India. '

SRS ST fRTER B 39 e 2l

(99 What 1s microenterprise?

TG S 2

2. Answer the following questions :

e Y] PR Tee feyyy

(@) What is birthrate? What was the

birthrate of India according to 2011
Census?

S W7 05y e (@lNEE Wrw SR
& [ e oz 9

(b) Mention two causes
unemployment in India.

IO R FRR 751 IR Bemd 390

Mention two objectives of Land Reforms
In India.

SIIOT PR A1 51 Seven Seaw 41 |

(d) Write down two problems faced by large
Industries of India.

of disguised

(c)
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guggest five measures for reducing
rural unemployment in India.

(b)

S514Celdl |

¢ Explain the role of égriculture in India’s
economic development. .

BAed FAANGS Trge FAT SN T 7 |

Explain the measures taken Dby
Government to ensure food security in

India.
SRES M I (e F{Ea0E 5P A>T I

IREPTR 10 41

el What were the main objectives of
' Industrial Policy of 1991? Explain.

Y555 T8 S e dqH SrwriR [
w1fRE 7 A QT |

4. Answer any three of the following questions :
10x3=30

TS fiF) epeptz R (i iR Ted (o -

a) Discuss the trend of growth of tertiary

sector of India during the plan period.

What are the main causes of increasing

imp’ortance of the tertiary sector? 6+4=10
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(b) Discuss the causes of slow growth of per

capita income of India during plan
period. 10

>

(c)

(d)

(e)

A9—7000/206

ARFEA RIS OS] &Y SET Ngd
3% FREPTR SO 41

Discuss the causes of inequality of

income In India.” Suggest some

measures to improve the situation. 6+4=10

SRS O SRS FRPTYE SCEADA Bl |
FRIRIOR Tafeq s e 49% HI9[CeHT |

What are the major barriers fto
agricultural growth in India? Discuss. 10

SR I 3@ A4 ez & 2 Hamns
9 |

Discuss the role of industrialization in

the economic development of a

developing economy like India. 10

SREY T TwAE WS qie wtafoe
SRS SNBSS WEaisa 47 |

Give a critical appraisal of the iIndustrial
development strategy of India in the
pre-reform period.

AG-ATFRA  IEC SRR Sy
(PR G STHICAH e LSRR RG] |

10
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